o gy Adi g3 9 Sl

5y olas Pl s pb Wi
ol g
Qligh g y (o91gho 3,19 4ig0d Aq 3000 wh st 1
ovw
Qigh g 3 (31 gke 3,19 dig0d A3 2000 05 (Sl 054 0k 0,5 oy Aty 2
N ,4lg bowd
4&3)&3,@1,&0 é)'é“,bs A3 2000 oﬁdTaﬁeﬁ?o.Ujﬁux 3
9 4lg Lowd
m,ﬁuig)@‘,ﬁo 0)‘043,03 A3 2000 6’!})\)6;«\.&0;6-\4_9};4.&){ 4’
) 19 bowd
Wlgh g 3 (91 9he 3,19 4909 A3 1000 3 e 0k 0,8 0y adiyy 5
N 4lg bowd
Aigh g y (91980 3,418 & god A3 1000 05 o ok 0,8 ey adyy 6
=T )'33 bowd
43.533@3,@1,&1 0)‘043,03 A3 1000 J)ja-ue;ou\}}ﬁdx 7
ETR\ bowd
Gy ) slgte 319 4 god A g B9y Sl osgd ol o )8 oy iy, 8
ol bons
Wigh g ) (o2 9o 8,10 dig0d A3 AR o T o 0,8 adiy ads, 4
IR A
10
11
12
13
14
15
16
17
18
— 19
20
21
22
| o — ,




